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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T", 'Topt'], ['RH, 'RHopt'], ['ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

.50 1

. 25 A

.00 -

.15

.50 A

. 25 A

.00 A

Warning: col [[FVOPH'] is

igsing

—8— PHO

40

50

60

70

80



Trend plot forP3-7_0
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P3-7

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

05:35 273 150.0 2.583 FA| 1BRi%@05:35 B3zh (KAIEREEE)
06:35 273 150. 0 2.583 | =| {Ri%e06:35 B (KREZBE)
07:35 273 150. 0 2.583 |Z=&| 1BRi&e07:35 Bzl (RAERE)
08:35 273 150. 0 2.583 |Z=| {Ri&e08:35 Bz (KREAEHSE)
10:10 273 150.0 2.583 FA| {Ri%@10:10 Bz (GRAERE)
12:25 273 150. 0 2.583 FA| 1BRi%@12:25 Bzh (RAB{ERSE)
13:30 273 150.0 2.583 FA| {Ri%@13:30 Bz CGRAEEE)
14:25 273 150.0 2.583 FA| {Ri&@14:25 Bz (GGRAERE)
15:20 273 150.0 2.583 FA| 1B2i%@15:20 B3h (RkAERSE)
21t 2457.0 (9%) 1350.0 3EIHKEC: 2200, PH: 6.0

FEREHERE STEELRF (173.0

FRIAEPRIEBRE142.0 ml.
large discrepency for begining water status (401:222.0), set to 401 ml.
HERVE S R GPH 6. 005
RRENE S REIREC 2200. 0

142.0), AIEERT—@E XAH5




P3-7_0, Day=76 (2025-06-13)
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P3-7

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R

05:30 283 150. 0 2.583 FE| 1RRi%@05:30 Bzl (REAHERESE)
06:30 283 150.0 2.583 FE| 1RRi%@06:30 B (FRFAERESE)
07:55 283 150. 0 2.583 FA| {Ri%@07:55 Bz (GkAEEE)
10:40 283 150.0 2.583 (£ =| 1Ri%@10:40 B3 (RAERSE)
13:10 283 150. 0 2.583 FE| 1Ri%e13:10 Bz (REAERSE)
14:00 283 150.0 2.583 FH| 1Ri&@14:00 B (RFEAERSE)
14:50 283 150.0 2.583 FA| 1BRi%@14:50 B3h (KRAHERSE)
15:50 283 150. 0 2.583 | =| {Ri&e15:50 Bz (REEZEHE)
2it]2264.0 (8%) 1200. 0 IHKEC: 2200, PH: 5.9

FEREHERE STEELRF (182.0 :

BRIASSPRIERE150. 0 ml.
FRBUFE NS K &PH 5. 93
FRAE NS RIFEREC 2200. 0

150.0), FAIEEHT—@E XAH5




P3-7_0, Day=75 (2025-06-12)
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